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* 1 �4<<5=>64=<5 <4F5D<4?4, E<5E< < D<D<O

· �4==O5 ?> ?D>4G>FG

· &>D7>6>5 =4<<5=>64=<5: TYTAN PROFESSIONAL �4GGG>>6O= >D>65?L=O= 75D<5F<>

· �DF<>G?L=O= =><5D: S-062
· �D<<5=5=<5 65M5EF64/ E<5E<
%FD><F5?L=4O E<<<O
�<FG<=4O 75D<5F<74F<

· �D><76>4<F5?L/ �>EF46M<>:
"���$� %?. � >.>."/ "LIBRA Sp. Z o.o. ",
58-200 �75D6>=N6, �5LOF>4 3, �>?LL4 / 58-200 Dzierzoniow, Pieszycka 3, Poland

tel.: +48 74 6465 100
fax: +48 74 6465 102
libra@libra.biz.pl

· �O44NM<= <=D>D<4F<N GG4EF>>: kartymsds@libra.biz.pl
· �=D>D<4F<O 6 M>EFD5==OE (?D< =5EG4EF=OE) E?GG4OE: +48 74 6465100

2 %>EF46/ �4==O5 ?> E>EF46?ONM<< >><?>=5=F4<

· %<<<G5E>4O E4D4>F5D<cF<>4
· �?<E4=<5: %<5EL <7 =<65?D<6545==OE 65M5EF6 E =5>?4E=O<< ?D<<5EO<<-4>546?5=<O<<.
· %>45D64M<5EO >?4E=O5 65M5EF64:

CAS: 64742-49-0
EINECS: 265-151-9

%>?L65=F (�5DFL), ?57><5 4D><4F=O5 G7?56>4>D>4O
Xn, Xi, F, N; R 11-38-48/20-62-51/53-65-67

5,0 - 10,0%

CAS: 64742-95-6
EINECS: 265-199-0

%>?L65=F (�5DFL), ?57><5 4D><4F=O5 G7?56>4>D>4O
Carc. Cat. 2; Xn, Xi, N; R 10-37-51/53-65

5,0 - 10,0%

· 4>?>?=<F. G>474=<O:
* 6 >?4EE<D<>4F<< >><?>=5=F4: %D54=OO DD4>F<O 4<EF<??OF>6 =5DF5?D><76>4=OE G7?56>4>D>4>6,
?D<<5=5=4 =>F4 H, P
�>?=>5 >?<E4=<5 G>474=<= ?> >?4E=>EF< E<. 6 �?465 16.

3 �>7<>6O5 6<4O >?4E=>EF<

· �E>55==O5 G>474=<O ?> >?4E=>EF< 4?O G5?>65>4 < >>DG64NM5= ED54O:
�D>4G>F ?>4?56<F >5O74F5?L=>= <4D><D>6>5 =4 >E=>64=<< >4?L>G?OF<>==>7> ?D>F5EE4 "�E5>5M5=
>?4EE<D<>4F<>==>= 4<D5>F<6O �% 4?O E<5E5=" 6 55 ?>E?54=5= 4>FG4?L=>= D544>F<<.
R 10 �>E??4<5=O5<>EFL
R 52/53 /6?O5FEO 6D54=O< 4?O 6>4=OE >D74=<7<>6, <>65F 4>?7>ED>G=> >>47O64FL 6 6>4>5<4E 6D54=O5

6>745=EF6<O
· %<EF5<4 >?4EE<D<>4F<<:
�?4EE<D<>4F<O E>>F65FEF6G5F 4>FG4?L=O< E?<E>4< �%, O6?O5FEO >4=4>> 4>?>?=5==>= 44==O<< <7
E?5F<4?L=>= ?D>D. ?<F5D4FGDO < 44==O<< D<D<O.

4 �5DO ?> >>474=<N ?5D6>= ?><>M<

· ?>E?5 64OE4=<O:
�55E?5G<FL 4>EFG? E65657> 6>74GE4, ?D< =5>5E>4<<>EF< E45?4FL <E>GEEF65==>5 4OE4=<5, >55E?5G<FL
F5??>. �E?< =54><>74=<O =5 ?D>E>4OF, >5D4F<FLEO 74 >>=EG?LF4F<5= > 6D4GG.
�D< ?>F5D5 E>7=4=<O (>5<>D>G=>< E>EF>O=<<) D47<5M5=<5 < FD4=E?>DF<D>6>4 6 EF45<?L=><
?>?>65=<< =4 5>>G.

· ?>E?5 >>=F4>F4 E >>65=:
�5<54?5==> E<OFL ?D< ?><>M< 6>4O < <O?4 < 74F5< E>D>L> ?D>?>?>E>4FL.
�5 ?D<<5=OFL D4EF6>D<F5?5= < D47546<F5?5=.

· ?>E?5 ?>?444=<O 6 7?474:
�D><OFL 7?474 E ?D<>F>DOFO<< 65>4<< ?>4 ?D>F5G=>= 6>4>= 6 F5G5=<5 <=>7<E <<=GF < >5D4F<FLEO 74
>>=EG?LF4F<5= > 6D4GG.

· ?>E?5 ?D>7?4FO64=<O: �5 ?D>6>F<D>64FL D6>F=GN D54>F<N < =5<54?5==> >5D4F<FLEO > 6D4GG.
(�D>4>?65=<5 =4 EFD4=<F5 2)
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DR

· '>474=<O 4?O 6D4G4:
· �>7<>6=> ?D>O6?5=<5 E?54GNM<E E<<?F><>6:
�>?>6>>DG65=<5
&>L=>F4
�<L5G=>-65?G4>G=O5 =54><>74=<O
�5<>D>G=>5 E>EF>O=<5 (?>F5DO E>7=4=<O)

5 �5DO ?> 5>DL55 E ?>64D><

· �D<7>4=O5 ED54EF64 FGL5=<O:
%?<DF>GEF>=G<64O ?5=4
�6G>><EL G7?5D>44
�>D>L>>6>5 ED54EF6> 4?O FGL5=<O

· %D54EF64 FGL5=<O, O6?ONM<5EO <7 E>>5D465=<= 557>?4E=>EF< =5?D<7>4=O<<:
�>?=>EFDG==4O 6>44.

· �E>55==O=  6D54 ,  =4=>E<<O=  65M5EF6>< ,  57>  ?D>4G>F4<<  E7>D4=<O  <?<
6>7=<>4NM<<< 7474<<:
�D< ?>4>7D564=<< <?< 6 E?GG45 ?>64D4 6>7<>6=> >5D47>64=<5 O4>6<FOE 747>6.

· �E>55==>5 74M<F=>5 >E=4M5=<5:
�>E<FL >><??5>E=GN 74M<F=GN >4564G.
�>E<FL E?5F<4?L=>5  GEFD>=EF6> 4?O 74M<FO 4OE4F5?L=OE ?GF5=, =5746<E<<> >F >>DG64NM57> 6>74GE4.

· �4?L=5=L<5 44==O5
�E?4645=<5 ?>6D5645==OE D575D6G4D>6 ?>ED54EF6>< 6>4O=>= EFDG< <5?>>7> D4E?O?5=<O
(D475DO77<64=<O).
�F45?L=O= E5>D >>=F4<<=<D>64==>= 6>4O 4?O FGL5=<O, 55 ?>?444=<5 6 >4=4?<74F<N =54>?GEF<<>.

6 �5DO ?D< =5?D54=4<5D5==>< ?>?444=<< 6 >>DG64NMGN ED54G:

· �5DO ?D54>EF>D>6=>EF< 6 >F=>L5=<< ?N45=:
�>L5=<5 74M<F=>7> E=4DO65=<O. �574M<M5==OE ?N45= 45D64FL =4 >F44?5=<<.
�55E?5G<FL 4>EF4F>G=GN 65=F<?OF<N.

· �5DO ?> >ED4=5 >>DG64NM5= ED54O:
�5 4>?GE>4FL ?>?444=<O 6 >4=4?<74F<N/ ?>65DE=>EF=O5 6>4O/ 7DG=F>6O5 6>4O.
�D<  ?>?444=<< 6 6>4>5<O (6>4O) <?< 6  >4=4?<74F<N E>>5M<FL >5 MF><  >><?5F5=F=O<
44<<=<EFD4F<6=>->D<F<4?L=O< E?G654<.

· �D>F54GD4 >G<M5=<O/ E5>D4:
%>5D4FL ?D< ?><>M< 6O6GM57> 6<4>>EFL <4F5D<4?4 (?5E>4, ><75?L7GD4, ><E?>F=>-6O6GM57> ED54EF64,
G=<65DE4?L=>7> 6O6GM57> ED54EF64, >?<?>>).
�4?D46<FL =4 D575=5D4F<N <?< =4 GEFD4=5=<5 (?<>6<44F<N) 6 ?D<7>4=OE D575D6G4D4E.
&M4F5?L=> >G<EF<FL <5EF> 464D<< (=5EG4EF=>7> E?GG4O), ?D<7>4=O<< 4?O MF>7> O6?ONFEO:
F5??4O 6>44 < >G<EF<F5?L=>5 ED54EF6>

7 �5D4M5=<5 E ?D5?4D4F>< < 57> ED4=5=<5

· �5D4M5=<5:
· '>474=<O ?> =4456=><G < 557>?4E=><G >5D4M5=<N:
�55E?5G<FL E>D>LGN 65=F<?OF<N/ >FE>E =4 D45>G5< <5EF5.

· '>474=<O ?> 74M<F5 >F ?>64D>6 < 67DO6>6:
�5D64FL 644?< >F <EF>G=<>>6 >7=O - =5 >GD<FL.
�D54?D<=OFL <5DO ?D54>EF>D>6=>EF< ?D>F<6 M?5>FD>EF4F<G5E>>7> 74DO65=<O.

· %D4=5=<5:
· &D55>64=<O, ?D54NO6?O5<O5 > E>?44E><< ?><5M5=<O< < F4D5:
%D4=<FL 6 ?D>E?44=>< <5EF5.

· '>474=<O ?> E>6<5EF<<>EF< ?D< ED4=5=<<:
%D4=<FL >F45?L=> >F >><E?<F5?5=.
%>6<5EF=>5 ED4=5=<5 E ><E?>F4<< =54>?GEF<<>.
%>6<5EF=>5 ED4=5=<5 E M5?>G4<< (M5?>G=O<< D4EF6>D4<<) =54>?GEF<<>.

(�D>4>?65=<5 =4 EFD4=<F5 3)
 RUS



%FD4=<F4: 3/6

�4E?>DF 557>?4E=>EF<
6 E>>F65FEF6<< E 1907/2006/WE, EF. 31

�4F4 ?5G4F<: 11.09.2009 �4F4 ?5D5D45>F><: 11.09.2009

&>D7>6>5 =4<<5=>64=<5: TYTAN PROFESSIONAL �4GGG>>6O= >D>65?L=O= 75D<5F<>

(�D>4>?65=<5 E> EFD4=<FO 2)

DR

· �4?L=5=L<5 44==O5 ?> GE?>6<O< ED4=5=<O:
%D4=<FL 6 E>D>L> 74>DOF>= F4D5 6 ?D>E?44=>< < EGE>< <5EF5.
�4M<M4FL >F 64DO < >F =5?>ED54EF65==>7> ?>?444=<O E>?=5G=OE ?GG5=.

8 ->E?>7<F<>==>5 >7D4=<G5=<5 < ?<G=>5 74M<F=>5 >E=4M5=<5

· �>?>?=<F5?L=O5 G>474=<O ?> >D74=<74F<>==><G >D>D<?5=<N F5E=<G5E><E
GEF4=>6>>:
�<>4><E 4>?>?=<F5?L=OE 44==OE, E<. �G=>F 7.

· �>=FD>?<DG5<O5 E>EF46?ONM<5 >><?>=5=FO E ?D545?L=O<< 7=4G5=<O<<, 6
746<E<<>EF< >F D45>G57> <5EF4:
�D>4G>F =5 E>45D6<F =<>4><E EGM5EF65==>->?D545?ONM<E >>?<G5EF6 65M5EF6 E ?D545?L=O<<
7=4G5=<O<<, E6O74==O<< E D45>G<<< <5EF4<< < ?>4?564M<<< =447>DG.

· �>?>?=<F5?L=O5 G>474=<O:
�E=>6>= ?>E?G6<?< E?<E><, O6?O6L<5EO =4 <><5=F E>EF46?5=<O 4>FG4?L=O<<.

· �<G=>5 74M<F=>5 >E=4M5=<5:
· �5M<5 <5DO ?> 74M<F5 < 7<7<5=5:
�75574FL ?>?444=<O 6 7?474 < >>=F4>F4 E >>65=.
�> 6D5<O D45>FO =5 5EFL < =5 ?<FL.
�OFL DG>< ?5D54 ?5D5DO64<< < ?>E?5 >>>=G4=<O D45>FO.

· �4M<F4 4OE4F5?L=OE ?GF5=:
�D< =54>EF4F>G=>= 65=F<?OF<< 74M<F4 4OE4=<O.
$<?LFDGNM55 GEFD>=EF6> 4?O >D4F>>6D5<5==>7> <E?>?L7>64=<O:
$<?LFD AX.

· �4M<F4 DG>:

�4M<F=O5 ?5DG4F>< (DG>46<FO).

�>?L7>64FLEO ?5DG4F>4<</ DG>46<F4<< <7 EF45<?L=>7> <4F5D<4?4 (=4?D<<5D, =<FD<?4), ?D< 65?4=<< E
G?GGL4NM5= >><D>DF455?L=>EFL =>L5=<O FD<>>F46=>= ?>4>?44>>=.
$5>><5=4G5FEO ?D>D<?4>F<G5E>4O 74M<F4 >>6< ?>ED54EF6>< ?D<<5=5=<O ED54EF6 4?O 74M<FO >>6<.

· �4F5D<4? ?5DG4F>>/ DG>46<F.
�<FD<?>4GGG>
�O5>D ?>4E>4OM<E ?5DG4F>>/DG>46<F >?D545?O5FEO =5 F>?L>> <4F5D<4?><, => F4>65 < 4DG7<<<
>4G5EF65==O<< >E>55==>EFO<<, ?D<G5< <564G D47?<G=O<< ?D><76>4<F5?O<< EGM5EF6G5F 5>?LL4O
D47=<F4. &4> >4> ?D>4G>F ?D54EF46?O5F E>5>= E<5EL D47?<G=OE 65M5EF6, F> 745EL =5 ?D54EF46?O5FEO
=<>4>>= 6>7<>6=>EF< 4?O 6OG<E?5=<O GEF>=G<6>EF< <4F5D<4?4, <7 >>F>D>7> <77>F>6?5=O ?5DG4F></
DG>46<FO, GF> 6O7O645F =5>5E>4<<>EFL ?D>65D>< ?5D5?D>65D>< =4 ?D54<5F ?D<7>4=>EF< ?5D54
<E?>?L7>64=<5<.

· �D5<O ?D>=<F45<>EF< <4F5D<4?4 ?5DG4F>>/ DG>46<F.
�=D>D<4F<N > F>G=>< 6D5<5=< ?D>DO64 74M<F=OE ?5DG4F>>/DG>46<F =5>5E>4<<> ?>?GG<FL G
?D><76>4<F5?O < ?D<45D6<64FLEO 55.

· �4M<F4 7?47:

�4M<F=O5 >G><.

9 $<7<G5E><5 < E<<<G5E><5 E6>=EF64

· �5M<5 44==O5.

$>D<4: ?4EF>>5D47=>5

&65F: G5D=>5

�4?4E: >5D>E<=>?>4>5=>

(�D>4>?65=<5 =4 EFD4=<F5 4)
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· �7<5=5=<5 E>EF>O=<O
&>G>4 ??46?5=<O/ �5?4EFL ??46?5=<O: �5 >?D545?5=>.
&>G>4 ><?5=<O/ �5?4EFL ><?5=<O: =5 >?D545?5=>

· &5<?5D4FGD=4O F>G>4 6E?OL><: 21°C

· %4<>6>E??4<5=O5<>EFL: �D>4G>F =5 O6?O5FEO E4<>6>E??4<5=O5<O<.

· �7DO6>>?4E=>EFL: �D>4G>F  =5  O6?O5FEO  67DO6>>?4E=O< ,  >4=4>>
6>7<>6=> >5D47>64=<5 67DO6>>?4E=OE E<5E5= ?4D4/
6>74GE4.

· �4D>6>5 446?5=<5 ?D< 20°C: < 8 mmHg

· �?>F=>EFL ?D< 20°C: 1,23 7/cm3

· $4EF6>D<<>EFL 6 / %<5L<645<>EFL E
6>4>=: =5D4EF6>D<<O=

· >D74=<G5E><5 D4EF6>D<F5?<: D4EF6>D<<> 6> <=>7<E >D74=<G5E><E D4EF6>D<F5?OE

10%F45<?L=>EFL < D54>F<6=>EFL

· &5D<<G5E>>5 D47?>65=<5 (D4E?44) / GE?>6<O, >>F>DOE E?54G5F <75574FL:
�D< E>>F65FEF6GNM5< ?D54?<E4=<O< ?D<<5=5=<< =<>4>>7> D47?>65=<O <?< D4E?444 =5 ?D><EE>4<F.

· �?4E=O5 D54>F<< $54>F<< E ><E?>F4<<, M5?>G4<< < >><E?<F5?O<<.
· �?4E=O5 ?D>4G>FO D47?>65=<O (D4E?444):
�?4E=>EFL >5D47>64=<O F>>E<G=OE ?<D>?<7=OE ?D>4G>F>6.
�><EL G7?5D>44 < 46G>><EL G7?5D>44

11�4==O5 ?> F>>E<>>?>7<<

· �EFD4O (=5?>ED54EF65==4O) F>>E<G=>EFL:
· �=4G5=<O LD/LC50, EGM5EF65==O5 4?O >?4EE<D<F<D>64=<O:

64742-95-6 %>?L65=F (�5DFL), ?57><5 4D><4F=O5 G7?56>4>D>4O
�D4?L=> (DF><) LD50 >6800 <7/>7 (rat)
�5D<4?L=> LD50 >3400 <7/>7 (rab)
�=74?OF<>==> LC50/4 G. >10,2 <7/? (rat)

· �5D6<G=>5 (>E=>6=>5) D474D464NM55 6>745=EF6<5:
· =4 >>6G �>65F 6O764FL D474D465=<5 >>6< ?D< 4?<F5?L=>< >>=F4>F5.
· =4 7?474: %<?L=>5 D474D464NM55 6>745=EF6<5 E >?4E=>EFLN E5DL57=>7> ?>6D5645=<O 7?47.
· %5=E<5<?<74F<O: �<>4>>5 E5=E<5<?<7<DGNM55 6>745=EF6<5 =5<765EF=>.

12�4==O5 ?> M>>?>7<<

· �5M<5 G>474=<O:
�5 4>?GE>4FL ?>?444=<O 6 7DG=F>6O5 6>4O, 6>4>5<O <?< 6 >4=4?<74F<N.
�D54 4?O ?<FL56>= 6>4O ?D< 6OE>45 ?>4 75<?N G65 <<=<<4?L=OE >>?<G5EF6.
�D54=>EFL 4?O 6>4=OE >D74=<7<>6.

13 '>474=<O ?> GEFD4=5=<N (?<>6<44F<<)

· �D>4G>F:
· $5>><5=44F<O:
'EFD4=5=<5 (?<>6<44F<O) E>6<5EF=> E 5OF>6O<< >FE>44<< =54>?GEF<<4. �5 4>?GE>4FL ?>?444=<O 6
>4=4?<74F<N.
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· �5>G<M5==O5 G?4>>6><:
· $5>><5=44F<O: 'EFD4=5=<5 6 E>>F65FEF6<< E 45=EF6GNM<<< ?D54?<E4=<O<<.

14�4==O5 ?> FD4=E?>DFG

· �475<=O= FD4=E?>DF ADR/RID < GGVS/GGVE (E ?5D5E5G5=<5< 7D4=<F/ 6=GFD<
EFD4=O):

· �?4EE ADR/RID-GGVS/E: 3 �57>>6>E??4<5=ONM<5EO 6<4>>EF<
· �5<?5D=>5 G<E?>: 30
· �><5D UN: 1133
· �DG??4 G?4>>6><: III
· �<EF>> >?4E=>EF5=: 3 
· �5>7=4G5=<5 7DG74: 1133 ����

· �>DE>>= EG4>E>4=O= FD4=E?>DF IMDG/GGVSee:

· �?4EE IMDG/GGVSee: 3 
· �><5D UN: 1133
· Label 3 
· �DG??4 G?4>>6><: III
· �><5D EMS: F-E,S-D
· Marine pollutant: �4
· �D46<?L=>5 F5E=<G5E>>5 =4<<5=>64=<5: ADHESIVES

· �>74GL=O= FD4=E?>DF ICAO-TI < IATA-DGR:

· �?4EE ICAO/IATA: 3 
· �><5D UN/ID: 1133
· Label 3 
· �DG??4 G?4>>6><: III
· �D46<?L=>5 F5E=<G5E>>5 =4<<5=>64=<5: ADHESIVES

15�=D>D<4F<O > =>D<4E

· �5>7=4G5=<5 (<4D><D>6>4) 6 E>>F65FEF6<< E 4<D5>F<64<< �-%:
�D>4G>F >?4EE<D<F<D>64= < >5>7=4G5= (<4D><D>64=) 6 E>>F65FEF6<< E 4<D5>F<64<< �%/ GefStoffV
('>474=<O ?> >?4E=O< 65M5EF64<).

· �?D545?ONM<5 >?4E=>EFL >><?>=5=FO, ?>4?564M<5 MF<>5F<D>64=<N:
�4DO <>7GF 6O7O64FL E>=?<6>EFL < ?><D4G5=<5 E>7=4=<O
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